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QUESTION 1

A company has a large customer database with over 100,000 entries, which will be processed as an XML document.
The marketing and retail groups need to be able to use these entries in a variety of ways, such as by region or specific
customer telephone number. There may be unforeseen ways to search the entries in the future. Given these
requirements, which of the following is the BEST approach to achieve good performance? 

A. Define id() functions for the different entry perspectives. 

B. Define id() functions, one for each customer entry. 

C. Define key() functions for the different entry perspectives. 

D. Define key() functions, one for each customer entry. 

Correct Answer: C 

 

QUESTION 2

Which of the following XSL FO elements represent block level elements? 

A. fo:block 

B. fo:flow 

C. fo:table 

D. to:table-and-caption 

E. fo:page-sequence 

Correct Answer: ACD 

 

QUESTION 3

Given the following DTD, what is the BEST practice for modifying the conditional section? 
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]]> 

 

 

A. Edit and update the parameter entities useSuppliers and noSuppliers in the DTD. 

B. Redefine the parameter entities useSuppliers and noSuppliers in the internal subset of the XML instance. 

C. Update the parameter entities useSuppliers and noSuppliers within XSLT. 

D. Define appropriate business rules applied by the XML processor. 

Correct Answer: B 

 

QUESTION 4

Consider the following XML Schema fragment: 

 

 

 

 

 

... 

 

 

 

When utilizing the XML Schema "all" compositor within an element declaration, which of the following 

statements are necessary pre-requisites? 

A. The "all" compositor must be the first and only child of the complex type element, and it cannot be combined will
either "choice" or "sequence" compositor. 

B. All of the elements declared within the compositor "all" should have minimum occurrence of 0 and maximum
occurrence of 1. 

C. All of the elements declared within the compositor "all" should be of complex type. 

D. All of the elements declared within the compositor "all" should be of simple type. 

E. The "all" compositor can only be defined on anonymous complex types. 

Correct Answer: AB 
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QUESTION 5

Which of the following statements reflects the BEST approach to rendering XML in a diverse range of clients? 

A. Format the XML during the XSL Transformation phase on the server using Format Objects based on xsl:template
rules. 

B. Format the XML during the XSL Transformation phase on the server using xsl:output in conjunction with an
xsl:choose and various xsl:when statements. 

C. Format the XML DOM in the middle tier XML application and deliver the objects to the requesting client. 

D. Use a combination of XSL Transformation processing and application processing to provide the necessary formatting
to render the XML for specific uses. 

Correct Answer: D 
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